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Questionl:-Which of the following statement is / are correct about the Preamble of
Indian Constitution?

(i) The Preamble of Indian Constitution starts with 'We the people of India'.

(ii) The Preamble of Indian constitution starts with 'We the people of Indian Union'.
(iii) Preamble includes Justice, Social, Economic and Political

A:-Only (i and iii)

B:-Only (ii and iii)

C:-Only (i and ii)

D:-All the above (i, ii and iii)
Correct Answer:- Option-A

Question2:-Which of the following statement is/are correct regarding the Preamble?
(i) India is a secular, Democratic Republic

(ii) India is a Socialist, Secular, Republic

(iii) India is a sovereign Socialist Secular, Democratic Republic

A:-All of the above (i, ii and iii)
B:-Only (i and ii)

C:-Only (ii)

D:-Only (iii)

Correct Answer:- Option-D

Question3:-Which of the following statement is/are correct about the Fundamental
Duties of Indian Constitution?

(i) There are eleven fundamental duties in Indian Constitution.

(i) Article '51 A" enlisting Fundamental Duties.

(iti) Part 'V A' of Indian Constitution includes Fundamental Duties.

A:-Only (ii and iii)

B:-Only (i and iii)

C:-All of the above (i, ii and iii)
D:-Only (i and ii)

Correct Answer:- Option-C

Question4:-Which of the following statement is/are correct about the Indian
Constitutional amendment?
(i) Fundamental Duties are inserted by the 44th Constitutional Amendment.



(i) 42nd Constitutional Amendment is known as 'Mini Constitution.
(iii) 86th Constitutional Amendment inserted one of the Fundamental Duties.

A:-Only (i and ii)

B:-Only (i and iii)

C:-Only (ii and iii)

D:-All of the above (i, ii and iii)
Correct Answer:- Option-C

Question5:-Which of the following statement is/are correct about First past the post
system?

(i) First Past the Post System is otherwise known as Propositional Representation
System.

(i) First Past the Post System is also known as Simple Majority System.

(iii) First Past the post System means Plurality Systems.

A:-Only (i and iii)

B:-Only (i and ii)

C:-Only (ii and iii)

D:-All of the above (i, ii and iii)
Correct Answer:- Option-C

Question6:-Which of the following Statement is correct about the provisions
adopted by Indian Constitution from constitutions of different countries?

(i) Chartle's of Fundamental Rights from British Constitution

(ii) The idea of Residual powers from Canadian Constitution.

(iii) Directive Principles from Irish Constitution.

A:-All of the above (i, ii and iii)
B:-Only (ii and iii)

C:-Only (i and ii)

D:-Only (i and iii)

Correct Answer:- Option-B

Question7:-Which of the following statement is/are correct about the Right to
Property of Indian Constitution?

(i) Right to Property is a Fundamental Right.

(ii) Under Article 300A, Right to Property is a simple legal right.

(iii) 44th amendment removed Right to Property from the list of Fundamental
Right.

A:-Only (i and iii)

B:-Only (i and ii)

C:-All of the above (i, ii and iii)
D:-Only (ii and iii)

Correct Answer:- Option-D

Question8:-Which of the following statement is correct regarding the Rajya Sabha?
(i) The Rajya Sabha represents the States of India.



(ii) Rajya Sabha is an indirectly elected body.
(iii) All the members of Rajya Sabha do not complete their terms at the same time.

A:-Only (ii and iii)

B:-All of the above (i, ii and iii)
C:-Only (i and iii)

D:-Only (i and ii)

Correct Answer:- Option-B

Question9:-Which of the following statement is/are correct regarding POCSO Act?
(i) POCSO stands for Protection of Children from Sexual offences.

(ii) POCSO protects all individuals, male or female, under the age of 18 years.
(iii) Protects children from physical, emotional or sexual abuse.

A:-Only (ii and iii)

B:-Only (i and ii)

C:-All of the above (i, ii and iii)
D:-Only (i and iii)

Correct Answer:- Option-C

Question10:-Which of the following statement is /are correct regarding KAPA?

(i) KAPA stands for kidnapping and Anti-Social Activities Prevention Act.

(ii) The Act empowers the Kerala District magistrate to order that any area be
disturbed.

(iii) The Kerala High Court has classified that Kapa law can also be imposed on the
accused in drug cases.

A:-All of the above (i, ii and iii)

B:-Only (ii and iii)

C:-Only (i and ii)

D:-Only (i and iii)

Correct Answer:- Option-B
Questionl1:-Who is known as 'Andhra Kesari'?

A:-K. Kelappan

B:-T. Prakasam

C:-E M S Namboothiripad

D:-T.K. Divakaran

Correct Answer:- Option-B

Question12:-Which of the following statements are true in related to Brahmananda
Sivayogi?

(i) He was bornon 1842

(i) He was the founder of 'Ananda Maha Sabha'.

(iii) His real name was Kunjan Pillai.

(iv) Heis also known as Alathur Swami

A:-i, i, iv



B:-ii, iii, iv

C:-ii only

D:-ii and iv

Correct Answer:- Option-D

Question13:-Which of the following social reformer first to make mirror consecration
in South India?

A:-Sree Narayana Guru

B:-Chattampi Swamikal

C:-Vaikunda Swamikal

D:-Ayyankali

Correct Answer:- Option-C
Question14:-Who wrote the Book Kazhinjakalam?

A:-K.P. Vallon

B:-K.P. Kesavamenon

C:-C. Kesavan

D:-C.V. Kunjuraman

Correct Answer:- Option-B

Question15:-Which of the following events are true in related to Malabar Rebellion?
i. Malabar rebellion broke out in 1925

ii. Wagon tragedy was an incident during Malabar Rebellion.

iii. Muhammed Ali and Sharkathali were the leaders of Malabar Rebellion.

iv. Pookkottoor war in August 1921 related to Malabar Rebellion.

A:-i, iii and iv
B:-i, il and iv

C:-ii, iii and iv
D:-ii and iv

Correct Answer:- Option-D
Questionl6:-Travancore State Congress formed in the year
A:-1938
B:-1937
C:-1936
D:-1935
Correct Answer:- Option-A

Questionl17:-Find the correct Chronological order from the following events.
i. Paliyam Sathyagraham

ii. Vaikkom Sathyagraham

iii. Punn apra - Vayalar agitation

iv. Guruvayur Sathyagraha

A:-iv, i, i, |



B:-ii, iv, i, iii

C:-ii, v, iii, i

D:-ii, iii, iv, i

Correct Answer:- Option-C
Question18:-Who proclaimed 'Free Primary education in Travancore' in 18177

A:-Swathi Thirunal

B:-Gauri Rani Lakshmi Bhai

C:-Anizham Thirunal

D:-Gauri Parvathy Bhai

Correct Answer:- Option-D
Question19:-Match the following correctly

Author Work
i. V.T. Bhattathiripad a. Darsana mala
ii. Vagbadananthan b. Prachina Malayalam
iii. Chattampi Swamikal c. Adukalayil ninnum Arangathekku
iv. Sree Narayana Guru d. Abhinava Keralam

A:-i-d, ii-c, iii-a, iv-b
B:-i-c, ii-d, iii-b, iv-a
C:-i-b, ii-a, iii-d, iv-c
D:-i-c, ii-d, iii-a, iv-b
Correct Answer:- Option-B

Question20:-Which of the following statements are true in related to Vakkom Abdul
Khadar Maulavi?

i. He was born in 1870 at Chirayinkeel Taluk.

ii. He encouraged western education.

iii. He was the Founder of Malabar Muslim Mahasabha.

iv. He was the founder of Swade Shabhimani Newspaper

A:-ii and iii
B:-i, iii and iv
C:-ii and iv

D:-all are correct
Correct Answer:- Option-C

Question21:- e .
alazl o3n 9 uxdl - Zwn3SIl 985 il 520l 5]



D:-

Correct Answer:- Option-D

Question22:-
aw Yl wlxy uail o muxiall izl
A:- )
)9.1.'2.” a0 g)l” Qioy §3J| 9D JL.>J|

C:-
olwIl o LoV leuwiSy selxll dauw
D:-
553 o s
Correct Answer:- Option-B
Question23:-
EA:- <
1> laino loglol jerao cuaiy bo
B:-

D:-
|.).7|_9 a y_g.f!.ﬂ.o ualy L

Correct Answer:- Option-B
Question24:-"" Lo s Vg 28 jub o sl laS azis awmss iy b i aadio b VI
e P TR C Y [l FV

A:-4all Gall

B:-aSuwMSJI

C:-anusilog JI

D:-au=8lgll

Correct Answer:- Option-A

Questif9n25:-
“lsiVl s 350 pls 3l 4553
adaxll 9 Jelall it
A:-
YBaiRo Hluao
B:-
waie S b
C:-
U909 >



D:-
553 Lo s
Correct Answer:- Option-A

Question26:- } ) .. )
I35 Sl o5 w93k Ho oS sl SulSs 9 (NSB”
readl I ol

2 A:-f -

2 B:-f -
SMels HMels el

- C:- - -

B E LM E M

D:-guw loo s i Y
Correct Answer:-Question Cancelled

Question27:-
rauYl o aumall dazll S

A:-
B:-

bow S 2 puine dass =l
C:-

bow S uins dasas ==l

Correct Answer:- Option-C

Question28:- =~ j
sV cns cnall ] cuoy ZLIVL Ol §a pudd”
readl b =

Correct Answer:-Question Cancelled

Question29:-
“6319” " |§ W,



Correct Answer:- Option-B
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A:-Economic Indications

B:-Treaty of Economics

C:-Economic Trends

D:-Economic Sanctions
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A:-Moral education

B:-Artificial intelligence

C:-Artificial senses

D:-Keen intellect
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A:-Fruits are costly
B:-Prices of Fruits are high
C:-Fruits are rare
D:-Cost of fruit is high
Correct Answer:- Option-B
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A:-l request you to kindly take the necessary steps to resolve this matter as
soon as possible

B:-l request you to resolve this matter as soon as possible and kindly take the
necessary steps

C:-l took necessary steps to resolve this matter as soon as possible
D:-1 resolve the matter as soon as the actions taken
Correct Answer:- Option-A
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A:-There is no objection for us in granting an entry visa to India
B:-We have no objection to granting visa to India
C:-We have grant him an entry visa to India without objection
D:-We have no objection to grant him an entry visa to India
Correct Answer:- Option-D
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